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ه����).١(�٣) tuple و id ،draw 

ا�
 
فه���) 
ی���� 
�� در را رو�
و 

ا�

1 S → T S

2 S → ε

3 T → P P draw

4 T → L draw

5 P → id

6 P → tuple

7 L → id

١.١.����� را LR(1)���ی�� !�ول DFAو ،

ا�
 ای" 
ا��

�$�ی��.٢.١ ��ی�� را «id draw tuple id id draw» ��ر%� ،LR(1) ا*�'ری�& ��+,-

٣.١��/'$�� از ا-��2د1 �� ،345 6$�5 ��ر%� ���ی�� در �78 ���ه��1 :'رت در

=��ـ�؛ 3��= را ��ی�� و �$�ی�� >�?@� را �78 (Synchronizing set) ه$��م-�ز�


ی�.��� B$= ��ی�� !�ول از ه$��م-�ز�، ��/'$�� "�8�- 
ا��

(١٠)٢��ی�� 

ا�
 
��D� ��ون یBرا -Fال 

ا�
ر%��ه�� ا*�'ری�&��LL(n)'ا�� �� �%�� ��ی� /�د� �G35ا�� n ���= ���ن د*�3 ��

.(6��� Hزم ��ی�� 4��!�ول-�?�) �$�ی�

او*'یـ٣6(١٠) �= ده�� 
��D� IJ�% �� را 

ا�
 ای" ه����. id و int ،cut رو�
و 

ا�
 در 
فه��

(Left-associative) 

=KL6یـ%MG از 
/$�Jـ دو و ��%ـ� «cut» از 
����ـ «int» 
/$�Jـ

.��%��

1 S → T

2 T → T cut T

3 T → T int T

4 T → id

(٢٠)N.ی�
��� 
�� در را رو�
و (Three-address code) ���-Oدر-- �=
1 a = 10

2 t0 = a + b

3 if t0 < 5 goto 6

4 c = -t0

5 goto 7

6 c = t0

7 d = b + c

8 return d

١.N.وری�O 6-�� را (Basic block) ��Lی �P'Jه��

٢.N.����� را (Flow graph) 
ی�ن! 
اف


٣.N18'ا�ـ� از 345 ه$'ار1 c 
�D�� 62
 Q75 R'ر �� �I�'ان 
ی�ن! 
اف
 �� �!'� �� Oی�

ده��. >�S'� �I%'د؟ Iده ��Uار %�ن

(٣٠)�(Register interference graph) 
ر!��� �ـ�ا38 
اف
 Oوردن 6-�� و (Liveness analysis) �'دن ز�ـ�1 3�J?� از +L

�V�@Wده��. 
ه��D�� �� را 
ر!��� دو 
اف،
 ����OXر� از ا-��2د1 �� �YGر، -Fال I���� �= 
ا��

د65=���: 
زی �ه����� �� &�=I�6-در8'ا Oز�'ن، ای" در �$%6�UZ'� Oرزو� ��

�I%'د. �4-�?� [�L و �: از ا��?�ن �1
$� و ا-6 �U�5د ه���د Oز�'ن ز��ن

�$I%'د. داد1 \-�L I�-
L �� Oز�'ن ز��ن در

ده��. \-�L ا-6 1�% �8'ا-� �]�O �� و ���= �^*�7� د65 �� را -Fاله�


